Storage Cabinet
ASSEMBLY INSTRUCTIONS

COMPONENTS
@ Counter Top (B) Back Panel-1pc @ Left Side Panel-1pc @ Right Side Panel-1pc @ Bottom Panel-1pc @Shelf Panel-1pc

Wood Door .
Top Panel-1 -
2pos (H) Top Panel-1pc () Kick Board -1pc

ﬂ <

HARDWARE & TOOLS

(J) Base Support-2pos (K)Cam Post-25pcs - (L) Philips Screw (M Cam Lock-25pcs Tools Required for Assembly
\ ﬁ M6X15mm-11pcs
@ i Allen Screw
Cam Sticker-25pcs  (O) Shelf Support -5pcs  (P) Mo s (Q Handle-2pcs Philips Screw Driver for
% ® Cam Post
@ (© Screw M6X15
® (M) Cam Lock
Screw @4X25mm-5pcs Allen Wrench 4mm Wrench-1oc T Support
@ -1pc @ p ©60X22X50mm-4pcs (R)screw @4X25mm
& K
T Support
% 60X22X73mm-1pc (W Screw M6X35-4pcs (X) M6 Nut-4pcs ) Wood Dowel

@8*30mm-9pcs

i - @& &

INSTRUCTIONS - Do not use power tools to assemble

STEP 1

HSC3620




Storage Cabinet
ASSEMBLY INSTRUCTIONS

INSTRUCTIONS

Note:
Adjust door alignment as necessary
by using the adjustment screws on
the hinges.

HSC3620




